5a. Circle the contraction in the sentence
below.

My best friend Greg couldn’t

be at school today.

Sb. Circle the contraction in the sentence
below.

Ella said you're not going to
the party.

éa. True or false?

The apostrophe in the word can't

replaces the letters n and o.

bb. True or false?

The apostrophe in the word wasn’t

replaces the letter a.

7a. Match the words with their

confractions.
" '
did not what's
r, L
what is we've
b A LN A
B i
you will didn’t
e - L. >
. s
we have you'll
L A LN r.

7b. Match the words with their

contractions.

 EEEE——
Sh::t'd hadn't

Y |
had not can't

|

— e,
cannot let's

— N——

Ty

let us shouldn’t
| —_ S —

8a. Circle the contractions which have
been written comrectly.

we're your'e
hasn't hel’l
hows’ she's

8b. Circle the confractions which have
been written correctly.

aren't wev'e
isnt’ you'll
don't would'nt




Rewrite the passage below using the correct
contraction for the underlined words below.

It's my party! x @

HarPY BirtHdaY!

We are having a birthday
party just for me today! It is June 29™
and I will be 7 years old. T invited many
friends. They are all coming, but not
Alex. He is on a trip with his family and
cannot come. I do not know what kind of
cake Mum got me. She is keeping it a
surprise and that is okay because T like
surprises. Dad and Mum told me not to
peek at my birthday gift and I have not,
even when I really wanted to.




